ozt

5]

o 25 O ABT F 2 50 TS T

<
ol
NI

Nfo

T

9 o] AlF

1.



@ +0.81 © V0.1
4
® Vi3 @—%




©)
V42 — 4/ vV v
22
@)
32 +
22

® vV v v
V(=5)2
® -
. )2_
v +(—\/§)(_2)2
@
32
-V
—2)2



e F HaHEst 8 AL BE D2W?

@ V6-V2< b © 4-V5>3-6
©® Vo-V2<V5-1
ONQ) ® 0,0 ® O,

@ 9,0 ® 0,00



@ V21+3< V19-4
© V19- V5> V15 - V7
® VI5+3> VI5+2

ONQ) @ 0O ® 9,0
@ 0,0 ® 0,00




E_/F’gl EH_/;\_ 7_7:"7}- %Z] %’_‘% 7/_1%{7
O V5-1>1 o
® \VI-1<3_1

V6

@ VI8+2> Vip+2
® —G> -



=

Ulo

Z 97| ore Ao9

® 2*/7><2\/§:4\/§
@ —3\/§x2\/§x_5\/g:30

@\/ﬁx\/gx g:\/g



8.

VI75 = a7, V1200 = b3 & W, ab O] Ffo =2
HY

O 80 @ 100 @ 120 @ 140

orar
=

® 160



9.

7127} Vi 2 O Wolsk VaEm? o AA7}
BFE 23 gt o] o, Bag Ae| Pol?

D 1m @ 2m ® 3m @ 4m

s

oFe] 591

® 5m

7k

il



the I A AEFH ©] Yol7t 8 & o, AH

=7

@ 8 @ V8 ® V2
@ V3 ® Vb




11.

© Vo) ® (B
@ V5

® (\/5)2



12, 2<x<59 ™, /(x-2)2+ /(x-5)2 & 7+d3| sojzt.

D L
=%



13. a9 @y HAt2<a<2¥ ™, J(a-2)2- /(a+2)? 9
rs] shH?

Do @ -2a-4 ® -4
@ —2a ® 2a



14. 3<x<42Q W, /B-0Z- /(x-42

@ 2x-1 @ 2x-3

@ 2x-7 ® 2x-9



15, x>19m, /=17 \/(T-x)? o &2 Fateizt.

D L
=%



16. H+= 27 & &7 g2 A& 25 12d?

(1]

H7]

@ x=1 1, VI51x & 257} Ak,
© x=3 2, Vi x & AA57] Ak,

© x=4 4w, V140 + x = A7 Hr
® x=6 2L M, V85 +x & AA7t "k

60,60 2206 006 ®o6 006



17. o5 Z2™olA oABCD &= & ¥19] Zo]7h 1 Q1 AAAgelal, AC =

AP olth. P o h-&ot= 5 a+ Vb L & W, fE5 a, b 9
+ ab 9 gk& F-stof=t

A




< yP

-5 -4 -3 -2 -1 0 1

D -2+ V2 @ -2-12 ® 5
@ -2+ 5 ® -2-+5

\ 4



ol

olJ
o8

olig
Nfo

ojn

512

@ FoTE 252 UEYE &8

@ 5 Fe5 V3 7 5 Aolofl 748 B



20. H= &AM D F3Eel AAA]

_O'll‘
rr
o
AL
N
rr

D

® 35 @ 242 ® 62 @ 42 ® 50



21. - VI0 9 VI7 Aol o] A4e0] Aj4 B A2

@ 5 7| @ 6 7 @ 7 @ 8 7 ® 9 7



zl=

94

f

2

i

o
T

E

@ 2

5

skt Y2Lo) ek, of w, a o) 22

® 3 @ 4 ® 5



Zt

i

o

5 sfofet.

23. \/§+\/§X\/2§>O

Ct-



24. /X A AQR ), Y e 4G5 1 5 Topolel,

400x
12

D L
=%



25.

V20 < x < V65 & THEote S x

5
=%

=5



2loltt.

I

[

7
@ a7k AA5 A, vark felsel A9k e,

H

ol

)

@ +n o] 727t H

M




27. 92 Al Fa, b, ¢ & A HWE Sof2f

a=2V3-1,b=3vV2-1,c=9-343




14



29. V3=a, V30=0b ¥ i, V3000 9 T} &2 AL

1 1 1



30. A% a b ol ool \/ 204 = A W, 0t b ) A5G

@® 33 @ 36 ® 42 @ 44 ® 78



